

TANGGAPAN NG KOMANDANTE (OFFICE OF THE COMMANDANT)

PAMBANSANG PUNONGHIMPILAN TANOD BAYBAYIN NG PILIPINAS (National Headquarters Philippine Coast Guard)

139 25th Street, Port Area 1018 Manila

NOTICE OF AWARD

MR. RONIE M. ALMIRA
Authorized Representative
Propmech Corporation
3/F Marine Technology Center, A. Soriano Ave.
Cor. Arzobispo St. Brgy, 656, Zone 069

Dear MR. ALMIRA:

We are happy to notify that your Bid Price for the Supply and Delivery of One (1) Year Spare Parts for the Small Boats and Outboard Motor (OBM) Intended for Coast Guard Districts and Major Commands (Lot 1) amounting to ELEVEN MILLION PESOS ONLY (PhP11,000,000.00) is hereby accepted.

Please be reminded to secure and submit the Performance Security to replace your Bid Security in any of the allowable forms of Performance Security provided in Section 39.2 of the 2016 Revised Implementing Rules and Regulations of Republic Act 9184, as amended, to the Coast Guard Procurement Service of the National Headquarters of the Philippine Coast Guard located at 139 25th Street, Port Area, Manila within ten (10) calendar days from receipt of this notice. Failure to provide the Performance Security within the prescribed timeline shall constitute sufficient ground for the cancellation of the approval of the award of the contract, revocation of the issued Notice of Award and forfeiture of the bid security or enforcement of the bid securing declaration.

Please acknowledge receipt and acceptance of this notice by signing both copies of this document in the spaces provided below. Keep one (1) copy and return the other to the Office of the Coast Guard Procurement Service at the National Headquarters Philippine Coast Guard. You may send the duly acknowledged copy of this notice physically at the above-stated address or through electronic mail at procurement@coastguard.gov.ph.

Truly yours,

Authorized Signature

CG VICE ADMIRAL LEOPOLDO V LAROYA Commandant, Philippine Coast Guard	
Conforme:	
Name of the Representative of the Bidder 120 Nuc	



TANGGAPAN NG KOMANDANTE (OFFICE OF THE COMMANDANT)

PAMBANSANG PUNONGHIMPILAN TANOD BAYBAYIN NG PILIPINAS (National Headquarters Philippine Coast Guard)

139 25th Street, Port Area 1018 Manila

NOTICE TO PROCEED

MR. RONIE M. ALMIRA
Authorized Representative
PROPMECH CORPORATION
3/F Marine Technology Center, A. Soriano Ave.
Cor. Arzobispo St. Brgy. 656, Zone 069

Dear Mr. Almira:

We are pleased to inform you that the Contract Agreement and Purchase Order for the Supply and Delivery of One (1) Year Spare Parts for the Small Boats and Outboard Motor (OBM) Intended for Coast Guard Districts and Major Commands (Lot 1), that was awarded to you has been signed by the contracting parties.

Thus, we are issuing this Notice to Proceed for you to commence with the Supply and Delivery of One (1) Year Spare Parts for the Small Boats and Outboard Motor (OBM) Intended for Coast Guard Districts and Major Commands (Lot 1) within ninety (90) Calendar Days effective from receipt of this notice at the Coast Guard Procurement Service, National Headquarters Philippine Coast Guard, 139 25th Street, Port Area Manila, 1018 Manila.

Upon receipt of this notice, you are responsible for performing the supply and delivery of the requirements under the terms and conditions of the **Purchase Order and Contract Agreement**.

You may coordinate with Commander, Ships and Aircraft Engineering, CG-10, 161 A. Port Area Bonifacio Drive, 652 Zone 068, Manila, 1018 Metro Manila with Contact Number: (+63)945 795 8413 for the specific details of their requirements.

Please acknowledge receipt and acceptance of this notice by signing both copies of this document in the spaces provided below. Keep one (1) copy and return the other to the Office of the Coast Guard Procurement Officer at the National Headquarters of the Philippine Coast Guard. You may send the duly acknowledged copy of this notice physically at the above-stated address or through electronic mail at procurementservice@coastguard.gov.ph.

Thank you.

Very truly yours,

CG VICE ADMIRAL LEOPOLDO V LAROYA
Commandant, Philippine Coast Guard

Name of the Representative of the Bidder RONIE ALMIRA
Authorized Signature

PURCHASE ORDER

PHILIPPINE COAST GUARD

Entity Name

SUPPLIER: PROPMECH CORPORATION

ADDRESS: Marine Technology Center A. Soriano cor.

Arzobispo St., Intramuros, Manila, Philippines

TIN NR.

PONR FCG -21-10-0029

Date: OF OH

Mode of Procurement: "Competitive Bidding"

Gentlemen:

Please furnish this office the following subject to the forms and conditions contained herein:

Place of Delivery: Coast Guard Surface Support Force, Pier

13, South Harbor, Port Area, Manila

Date of Delivery:

Delivery Term: within Ninety (90) Calendar Days effective from receipt of the Notice to Proceed

Payment Term:

Supply and Delivery of One (1) Year Spare Parts for the Small Boats and Outboard Motor (OBM) Intended for Coast Guard Districts and Major Commands (Lot 1)

ITEM DESCRIPTION	PART NUMBER	QTY	UNIT	UNIT PRICE	TOTAL PRICE
Battery Unit (Brand: Motolite)	BAT 3SMF	108	pcs	16,282.00	1,758,456.00
Steering Cable (Brand: MULTIFLEX)	SC-16-13	150	pcs	7,817.00	1,172,550.00
Steering Wheel (Brand: MULTIFLEX)	LM-W-1B	200	pcs	3,720.00	744,000.00
Control Cable (Brand: MULTIFLEX)	EC-133-13	210	pcs	2,981.00	626,010.00
Bilge Pump 25D 12V 1890LPH (Brand: RULE)	500GPH	225	pcs	4,396.00	989,100.00
Belt BF40 (Brand: HONDA)	14400-ZV5-014	165	pcs	4,689.00	773,685.00
Fuse, Mini 10A (Brand: HONDA)	98200-14000	601	pcs	211.00	126,811.00
Fuse, Mini 15A (Brand: HONDA)	98200-41500	597	pcs	279.00	166,563.00
Fuse, Mini 30A (Brand: HONDA)	98200-43000	641	pcs	228.00	146,148.00
Valve Set Float (Brand: HONDA)	16011-ZY3-A01	218	pcs	2,637.00	574,866.00
Switch Assy Starter Magnet (Brand: HONDA)	35850-ZZ5-003	139	pcs	5,104.00	709,456.00
Steering Helm (Brand: MULTIFLEX)	LM-H-101	135	pcs	6,573.00	887,355.00
Generator Assy (Brand: HONDA)	31630-ZZ5- 033ZA	40	pcs	41,117.00	1,644,680.00
Bravo 7M Foot Pump (Brand: BRAVO)	SHAN- 7MFPPUMP	160	pcs	4,252.00	680,320.00

GRAND TOTAL

AUTHEN VILLED BY

Php 11,000,000.00

Amount in Words: ELEVEN MILLION PESOS ONLY

A. Requirement/s if Awarded the Contract:

The supplier shall present the brand-new supply of spare parts for small boat and OBM with an Original Equipment Manufacturer (OEM) Certification to the PCG authorized representative.

2. The Supplier must inform the PCG authorized representatives at least seven (7) days prior to the delivery of goods at delivery place/site Admin Officer, CGPS

3. The PCG authorized representatives shall conduct judicious physical check on the requirement listed above.

*					
Payment should be made after the complete delivery and acceptance.					
Warranty:					
 The six (6) months warranty period against factory defect under normal usage shall be reckoned from the date of issuance of the Certificate of Final Acceptance. All replaced items due to said factory defects shall have a warranty period of six months. However, if the same defect occurred for two (2) consecutive times within the warranty period on a particular part/item and its attendant part, the warranty period shall be automatically extended for a period of eight (8) months after the expiration of the original warranty period. The said defective parts/item should be replaced within thirty (30) days from the date of delivery. 					
-x-x-x- nothing follows -x-x-x-					
In case of failure to make the full delivery within the time specified above, a penalty of one tenth of (1/10) one (1) percent of the cost of the unperformed portion of the contract for every day of delay shall be imposed. Very truly yours,					
Conforme:	$\sim \sim $				
Signature Øver Printed Name	G VICE ADMIRAL LEOPOLDO V LAROYAY ommandant, Philippine Coast Guard Authorized Official				
Fund Cluster: Funds Available:	ORS/BURS No: Date of the ORS/BURS:				
Signature Over Printed Name of Chief Accountant/ Head of Accounting Division/Unit	Amount:				

CG ENS ALEJANDRO T ALTICHE
Admin Officer, CGPS